· I was asked to provide examples for computing price elasticity of demand. Here they are.

Arc elasticity approach

You are given two combinations of price and quantity demanded

P1 = $1

Q1 = 250

P2 = $1.10

Q2 = 240

The formula for the price elasticity of demand is

e = percentage change in quantity / percentage change in price

First find the percentage change in quantity

∆Q/Q = (Q2 - Q1)/((Q1 + Q2)/2) = (240 - 250)/((240+ 250)/2) = -10/245 = -0.0408

Then find the percentage change in price

∆P/P = (P2 - P1)/((P1 + P2)/2) = (1.1 - 1)/((1.1+ 1)/2) = 0.1/1.05 = 0.0952

e = -0.0408/0.0952 = -0.4286

Point Price and Income Elasticity

The point price elasticity is measured at a specific point on the demand curve not along an interval, as is the case for the arch price elasticity.

Suppose you are given the following demand function

Qd = 100 - 0.5 Px + 0.25Y

And are give the following information

Px* = $60 and Y* = 40

You can find the value of Qd* = 100 - 0.5 x 60 + 0.25 x 40 = 100 - 30 + 10 = 80

The price elasticity of demand at that point is equal to

Ep = (coefficient of Px) x Px*/Qd* =  -0.5 x 60/80 = -0.375

The income elasticity of demand at that point is equal to

Ei = (coefficient of Y) x Y*/Q* = 0.25 x 40/80 = 0.125

